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Answer bricfly any Five parts from the followings.

Define lenticles. - f/u’/d//l/u“) G

How putiation differ from dew? '\'ﬁLuﬁUC,)’J(L:.(' o CGiv)

Define transpiration,

Write various typces of coordination.

Define stimulus and give one example.

What is the difference between a nerve and ganglion?
Answer briefly any Five parts from the followings.

Write the role of skelctal system.

Differentiate between compact bone and spongy bone.

Define fertilization. Write the names of its typcs.

Define seed dormaicy.

Write two major cormponents of chromatin.

Differentiate between dominant allele and recessive allele.

Define mendel’s law of independent assortment.

Define Homologous chromosomes.

Answer briefly uny Five parts from the followinga.
Define population.
Write the name ol fwo terliary Carnivores.
Definc food chain.
Differentiate between Ectoparasite and Endoparasite.
Define Fermentation,
Wrile the usc of Bnzyme urokinase.
What arc antibiotics?
Deline Vaccination.
Part 1§
Note: Attempt any Two Questions.

Write in detail the steps of urine formation in Kidney.
What is a joint? Write in detail the types of Joinls,
Explain the types of feed back mechanisms.

What you know about AIDS? Explain.

Explain Drug addication and associated problems in detail.

Describe Basic steps in genetic Enginccring in detail.
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] N I In Which year worl started on penctic mglmcnng'? L
o e e Uny It S ol ,__c.,_,,/ OB 3
oSS bow /7 Synthelic bowrS Aspirin is characterized as
Drug from Drug from drug A drug [rom
——— plants animals
suid Ut | 4
i ! ’ : How many types of bronchitis are?
A Sl OS2 y CBLSE w7 et | 5
Conifer Lady finger | Rubber Plant Keekur Mucilage is removed by plants.
st ST S S/ te bt o ne bt /Ul A uf | 6
Temporal Occipetal Parictal Frontal Which lobe receive and analyze visual
information?
5] J/ 1y ugéf : M;’Ldbu)//v'/m)/zf/urc_v/ e
Sced Frontal Nerve Ganglion Cc?bud‘is of many neurons form a group called.
4 3 ) o FSSur | 8
e 7t J)_)~ Lﬁfg/ ,q_rlkf_;m{r/;/,xgir .9
Fertilization Plumule Radicle Pollinatioiz- Fusion ofegg and sperm is called.
i i | sy S K Ly, 2| 10
Lipids DNA Protein Carbohydrates | Genes consists of v,
IO VP ;.uuu__u W 20 |
5 & 3 2 How many hydrogcn bond form between cytosine
and puanine?
(:%Lf’ 29l dL Ly ‘__u;fd)ufc,u'u! .12
Funpi Animal Water Air Which of the following is a decomposer?
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Part I

 Answer briefly any Five parts from the followings. 5x2=10
;\:)Vhat is meant by nasal cavity?

{Nlnzlt is function of pharynx in respiration?

How the breathing rate is controlled by brain?

What is Urine? ?q_l:'/u__«l‘%; €2

Differentiate between receptors and cffectors.

Writc down the functions ofncuron'?-’é_:/»/‘;f Koy (viid)
Answer briefly any Five parts from the followings. 5%x2=10
Differentiate between cartilage and bone.

What are Osteocyltes?
Deline reproduction.

What is meant by alternation ol generations.
What is meant by chromatin? S',‘:_)l/_b-'/c—cft:f (vi)

What arc traits? Give an cxumplci{:)df‘/vg‘.'ujlg/u":/‘(viii)
Answer bricfly any Five parts from the followings. 5x2=10
What arc decomposcrs? ?u_?\fj /J;;rd)' G
Iow Denguce fever ransmit?
Define commensalism.

Define Biotechnology.

Write the usc of Restriction endonucleases enzyme.
Wiite the namc of two narcotics derived from opium (popy)

Deline antigens and antibodics.

Note: Attempt any Two Questions. 9x%2=18

Deline and explain structure of nephron.

Define Joints. Write a note on its types.

Write a note on thyroid gland in human body.

Lxplain, how the epigeal and hypogeal germinations are
different from cach other?

What do you know about Antibiotic Resistance? Bxplain.

Describe the Applications of Fermentation in Fermented Foods
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